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15—LE F1RE—k
25—LB F1R2—bk
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25—LB HF2RH4—hk
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25—LB HIRZ—

15 —LE F4RF—t
25—LB HFA4REZ—hk

15 —LE FERF—F
25—LB H5RHZ—hk

15 —LEB FR6RE—k
25—LB H6RA—hk

15 —LE F7TREZ—k
25—LB F7IRZ—hk
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14 —LE H2R%—t
27—LB #2RE—hk
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27—LB #|ARZ—k
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27—LB #5RE—hk

15— LB F6RE—hk
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15—LB F7RX45—b+
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25 —LB #1R%—bk
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25 —LB #%2R3—bk

15—LE #EIRZ—F+
25 —LB #IRHZ—bk

15 —LE #ARZ—k
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15 —LE #E5X5—k
25 —LB #%5RF—bk
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25— LB #%6RFA—
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15—LEB &F1RF—k
25 —LEB FI1IREZ—bk

15 —LE #&2X2—tk
25—LB FH2REZ—hk

145 —LE #H3RF—k
25 —LB FHRBRA—bk
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25 —LB FKA4REZ—hk
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25 —LB FHFRERF—hk
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